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Rewriting Using the Laws of Exponents Name:
Use the law of exponentsto rewrite each problem. Answers
1 2 1_—
e ) 4= 1
2
0
4,
6.
0
7) 4 = 8) 95 % 97: .
8.
9 1, g_ 10) A5 A8 —
(72)°= 33 0
10.
11) 25— 12) 1, g_
(5 (/3) = 11.
12.
13) g = 14) P x34= Y
14.
15) 55« 53= 16) 22 % 2= .
16.
17) 26 4 2= 18) (495 = .
18.
19) 2_ 200 1, g_
(8x5) (7/7)°= 19,
20.
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ﬂh Rewriting Using the Laws of Exponents

Name: Answer Key
Use the law of exponentsto rewrite each problem. Answers
- 1
Y 9°= 1/95 2 4= 4 n /. o5
2 4
3 Hl= 8 =
2 2 9 L 3. 2
4, 1
o gl= 8 O @x7t= 2'x7 . g
6. 2* x 7*
0
7) 4 = 1 8) P x 9= 912 ) 1
o 912
9 1 _ 1 10) 5. 8= 13 1
(7/5)°=  /p 3 %3 3 0. 28
1
10. 3"
11) (52)5= 510 12) (1/3 8= 1/38 . £10
1
12. 3®
i} 1
13) g4 = 1/94 14) 3P x34= 3l " /94
14, 3t
15) g5, 53= 58 16) 52 52 20 N 8
0
16, 2
17) 26y o2= o 18) ( 42)6: 212 . A
12
18. 4
19 2 - 2. 2 20
) (8x5)7=_8 x5 ) (1/7)6: 1/76 . 8°x5°
1
20. /. 7°
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